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arqu
e

•
E

ncore
une

fois,c’est
la

form
e

de
l’objet

considéré
dans

la
propriété

qui
nous

a
am

ené
à

faire
une

récurrence
forte

:l’objet
u

n
+

1
est

définià
l’aide

de
tous

les
u

i
précédents.

•
C

et
exem

ple
est

en
fait

artificiel
puisque

l’on
pourrait

dém
ontrer

qu’à
partir

du
rang

1,la
suite

(u
n
)

est
une

suite
géom

étrique
de

raison
2.O

n
a

en
effet

:8
n
2

N
⇤,

u
n
+

1
=

2u
n .

•
Le

principe
de

récurrence
forte

peutsem
blerplus

puissant
que

le
principe

de
récurrence

sim
ple.C

es
principes

sont
en

fait
équivalents.

•
P

lus
précisém

ent,
on

peut
résoudre

l’exercice
précédent

à
l’aide

d’une
récurrence

sim
ple.O

n
dém

ontre
alors

que
:8

n
2

N
,

(8
k
6

n
,

P
(k

)).
(ce

quidém
ontre

notam
m

ent
que

:8
n
2

N
,

P
(n

))

II.
Som

m
es

finies

E
n

m
athém

atiques,
il

est
fréquent

de
tom

ber
sur

des
quantités

définies
com

m
e

des
som

m
es

finies.C
onsidérons

les
exem

ples
suivants.

E
xem

p
le

de
som

m
es

finies

1)
3
4
+

3
5
+

3
6
+

···
+

3
1
5

2)
12

+
24

+
38

+
41
6

+
···

+
1
0

1
0
2
4

3)
u

+
u
22

+
u
33

+
···

+
u

nn

4)
2�

4
+

6�
8

+
···

+
5
0

La
m

anière
dont

on
a

défini
ces

quantités
n’est

pas
très

satisfaisante.
O

n
utilise

notam
m

ent
la

notation
«

...»
quin’est

pas
rigoureuse.O

n
va

donc
introduire

un
sym

bole
quiva

nous
perm

ettre
de

définir
rigoureusem

ent
ces

quantités.
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le
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an
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:
P

1
6

i
6

n
,

1
6

j
6

p

i
.

D
ém

on
st

ra
ti
on

.
P

1
6

i
6

n
,

1
6

j
6

p

i
=

n P i=
1

 
p P j=
1
i!

=
n P i=
1
p
⇥

i
=

p
n P i=
1
i

=
p

n
(n

+
1)

2

À
re

te
n
ir

C
e

pr
em

ie
r

ex
em

pl
e

si
m

pl
e

pe
rm

et
d’

ill
us

tr
er

la
«

te
ch

ni
qu

e
»

de
ca

lc
ul

de
s

so
m

m
es

do
ub

le
s

:
1)

O
n

éc
ri

t
la

so
m

m
e

do
ub

le
à

l’a
id

e
de

la
fo

rm
ul

e
de

so
m

m
at

io
n

su
iv

an
t

le
s

lig
ne

s
(o

u
le

s
co

lo
nn

es
).

(c
e

ch
oi

x
po

ur
ra

m
od

ifi
er

la
co

m
pl

ex
it
é

de
s

ca
lc

ul
s)

2)
Le

ca
lc

ul
de

so
m

m
e

do
ub

le
se

ré
su

m
e

al
or

s
à

un
ca

lc
ul

de
so

m
m

es
si

m
pl

es
.

E
xe

rc
ic

e
So

ie
nt

(a
i)

i2
N
⇤

et
(b

i)
i2

N
⇤

de
ux

su
it

es
ré

el
le

s.
M

on
tr

er
qu

e,
po

ur
to

ut
n
2

N
⇤

et
po

ur
to

ut
p
2

N
⇤ ,

on
a

:

P
1
6

i
6

n
,

1
6

j
6

p

a
ib

j
=

✓
n P i=
1
a

i◆
⇥
✓

p P i=
1
b i

◆

D
ém

on
st

ra
ti
on

.
P

1
6

i
6

n
,

1
6

j
6

p

a
i
⇥

b j
=

n P i=
1

 
p P j=
1
a

i
⇥

b j

!
=

n P i=
1
a

i

 
p P j=
1
b j

!

=

 
p P j=
1
b j

!
n P i=
1
a

i

La
de

rn
iè

re
ég

al
it

é
es

t
vé

ri
fié

e
ca

r
la

qu
an

ti
té

p P j=
1
b j

es
t

in
dé

pe
nd

an
te

de

l’i
nd

ic
e

de
so

m
m

at
io

n
i.

26

E
C

E
1-

B
20

15
-2

01
6

II
.1

.
D

éfi
n
it

io
n

D
an

s
la

su
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s
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ta
ti

on
s
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k
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(v
k
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2N
dé

si
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en
t

de
ux

su
it

es
ré

el
le

s.

N
ot

at
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n
Sy

m
bo

le
P

•
La

so
m

m
e

fin
ie

de
s
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en
ts

u
1
,u

2
,.

..
,u

n
es

t
no

té
e

co
m

m
e

su
it

.

n P i=
1
u

i
=

u
1
+

u
2
+

··
·+

u
n

•
La

va
ri

ab
le

i
es

t
ap

pe
lé

e
va

ri
ab

le
de

so
m

m
at

io
n.

•
P

lu
s

gé
né

ra
le

m
en

t,
on

pe
ut

ré
al

is
er

la
so

m
m

e
d’

un
no

m
br

e
fin

i
d’

él
é-

m
en

ts
,i

nd
ex

é
pa

r
un

so
us

-e
ns

em
bl

e
fin

iI
de

N
.O

n
no

te
ra

al
or

s
P i2

I

u
i.

P
ar

ex
em

pl
e,

P
i2

{3
,5

,6
,9

}
u

i
=

u
3
+

u
5
+

u
6
+

u
9
.

•
A
ve

c
ce

tt
e

no
ta

ti
on

,o
n

a
:

n P i=
1
u

i
=

P
i2

J1
,n

Ku
i

(i
pr

en
d

to
ut

es
le

s
va

le
ur

s
en

ti
èr

es
en

tr
e

1
et

n
)

R
em

ar
qu

e
In

di
ce

s
de

so
m

m
at

io
n

•
La

va
ri

ab
le

de
so

m
m

at
io

n
es

t
di

te
m

u
et

te
:c

ha
ng

er
so

n
no

m
n’

aff
ec

te
pa

s
le

ca
lc

ul
de

la
so

m
m

e.

n P i=
1
u

i
=

n P j=
1
u

j
=

n P k
=

1

u
k

•
Le

s
so

m
m

es
ne

co
m

m
en

ce
nt

pa
s

fo
rc

ém
en

t
à

l’i
nd

ic
e

1.

O
n

pe
ut

év
id

em
m

en
t

co
ns

tr
ui

re
le

s
so

m
m

es
n P i=
0
u

i,
n P i=
2
u

i,
n P i=
3
u

i
et

pl
us

gé
né

ra
le

m
en

t
n P i=
m

u
i.
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III.1.c)
Form

u
le

d
’interversion

d
es

som
m

es
fi
n
ies

B
ien

entendu,nous
calculons

la
m

êm
e

som
m

e
avec

ces
deux

m
éthodes,

d’où
la

form
u
le

d
’interversion

d
es

som
m

es
fi
n
ies.

nPi=
1

 
pPj=
1
u

i,j !
=

pPj=
1

✓
nPi=
1
u

i,j ◆

•
O

n
peut

aussinoter
ces

som
m

es
sous

form
e

com
pacte.

P
1
6

i6
n
,

1
6

j
6

p u
i,j

=
nPi=
1

 
pPj=
1
u

i,j !
=

pPj=
1

✓
nPi=
1
u

i,j ◆

•
Si

n
=

p,on
pourra

utiliser
la

notation
suivante

:

P
16

i,j6
n

u
i,j

=
nPi=
1

 
nPj=

1
u

i,j !
=

nPj=
1

✓
nPi=
1
u

i,j ◆

N
om

b
re

d
e

term
es

som
m

és
Ily

a
deux

m
anières

de
calculer

le
nom

bre
de

term
es

som
m

és.

1)
Il

y
en

a
n
⇥

p
puisqu’on

som
m

e
tous

les
élém

ents
d’un

tableau
com

-
portant

n
lignes

et
p

colonnes.

2)
O

n
peut

noter
que

chaque
term

e
u

i,j
com

pte
pour

un
élém

ent
som

m
é.

Le
nom

bre
de

term
es

est
donc

donné
par

la
som

m
e

double
:

P
1
6

i6
n
,

1
6

j
6

p 1
=

nPi=
1

 
pPj=
1
1 !

=
nPi=
1
p

=
n
⇥

p
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•
O

n
utilisera,sans

distinction,l’une
ou

l’autre
des

notations
suivantes

:

nPi=
m

u
i

=
P

i2Jm
,nK

u
i

=
Pm
6

i6
n

u
i

O
n

a
notam

m
ent,si

m
>

n
:

nPi=
m

u
i

=
Pi2
?

u
i

=
0

et
si

m
=

n
:

mPi=
m

u
i

=
u

m

E
xercice

É
crire

à
l’aide

du
sym

bole
P

les
som

m
es

précédentes.

1)
2
0
+

2
1
+

2
3
+

...
+

2
n

=
nPi=
0
2

i

2)
3
4
+

3
5
+

3
6
+

···
+

3
1
5

=
1
5
Pi=

4
3

i

3)
12

+
24

+
38

+
41
6

+
···

+
1
0

1
0
2
4

=
1
0
Pi=

1

i2
i

4)
u

+
u
22

+
u
33

+
···

+
u

nn
=

nPi=
1

u
ii

5)
2�

4
+

6�
8

+
···

+
5
0

=
2
5
Pi=

1
(�

1
)
i+

1
2
i
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S
om

m
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d
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s
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d
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n
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b
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re
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ir

e

O
n

co
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id
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e
de

s
ré

el
s

u
i,
j
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i
2

J1
,n

Ke
t

j
2

J1
,p

K.
O

n
ra

ng
e

ce
s

va
le

ur
s

da
ns

un
ta

bl
ea

u
re

ct
an

gu
la

ir
e.

u
1
,1

u
1
,2

··
·

u
1
,j

··
·

u
1
,p

u
2
,1

u
2
,2

··
·

u
2
,j

··
·

u
2
,p

. . .
. . .

. . .
. . .

u
i,
1

u
i,
2

··
·

u
i,
j

··
·

u
i,
p

. . .
. . .

. . .
. . .

u
n
,1

u
n
,2

··
·

u
n
,j

··
·

u
n
,p

O
n

so
uh

ai
te

ca
lc

ul
er

la
so

m
m

e
S

de
to

us
ce

s
te

rm
es

.

II
I.
1.

a)
S
om

m
at

io
n

su
iv

an
t

le
s

li
gn

es

O
n

ca
lc

ul
e

la
so

m
m

e
de

s
te

rm
es

de
la

1
èr

e
lig

ne
,p

ui
s

on
aj

ou
te

la
so

m
m

e
de

s
te

rm
es

de
la

2
èm

e
lig

ne
,
..

.,
et

en
fin

la
so

m
m

e
de

s
te

rm
es

de
la

n
èm

e

lig
ne

.

O
n

a
al

or
s

:
S

=
p P j=
1
u

1
,j

+
p P j=
1
u

2
,j

+
··

·+
p P j=
1
u

n
,j

ce
qu

is
’é

cr
it

en
co

re
:

S
=

n P i=
1

 
p P j=
1
u

i,
j

!

II
I.
1.

b
)

S
om

m
at

io
n

su
iv

an
t

le
s

co
lo

n
n
es

O
n

ca
lc

ul
e

la
so

m
m

e
de

s
te

rm
es

de
la

1
èr

e
co

lo
nn

e,
pu

is
on

aj
ou

te
la

so
m

m
e

de
s
te

rm
es

de
la

2è
m

e ,
..

.,
et

en
fin

la
so

m
m

e
de

s
te

rm
es

de
la

p
èm

e
co

lo
nn

e.

O
n

a
al

or
s

:
S

=
n P i=
1
u

i,
1
+

n P i=
1
u

i,
2
+

··
·+

n P i=
1
u

i,
p

ce
qu

is
’é

cr
it

en
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S
=
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1

✓
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1
u

i,
j

◆
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�
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R
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R
et
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)
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e

m
6

n
.

1)
S
om

m
at

io
n

d
’u

n
e

co
n
st

an
te

n P i=
1
a

=
n
⇥

a
n P i=
m

a
=

(n
�

m
+

1
)
⇥

a

•
O

n
no

te
ra

au
pa

ss
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e
qu

’u
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so
m

m
e

in
de

xé
e

pa
r

i
2

Jm
,n

Kc
on

ti
en

t
n
�

m
+

1
te

rm
es

.

•
C

es
fo

rm
ul

es
so

nt
va

la
bl

es
po

ur
to

ut
él

ém
en

t
a

in
d
ép

en
d
an

t
d
e

l’
in

d
ic

e
d
e

so
m

m
at

io
n

i.

•
P
ar

ex
em

pl
e,

on
a

:

1
3 P i=
4
7

=
(1

3
�

4
+

1
)
⇥

7
=

1
0
⇥

7
=

70

2)
S
om

m
at

io
n

p
ar

p
aq

u
et

s

n P i=
1
u

i
=

m P i=
1
u

i
+

n P
i=

m
+

1
u

i

•
P
ar

an
al

og
ie

av
ec

le
ca

lc
ul

in
té

gr
al

,
on

pa
rl

e
au

ss
i

de
re

la
ti

on
d
e

C
h
as

le
s

su
r

le
s

so
m

m
es

fin
ie

s.

•
P
ar

ex
em

pl
e,

on
a

:

1
3 P i=
4
7

=
9 P i=
4
7

+
1
3 P i=
1
0
7

=
(9
�

4
+

1
)
⇥

7
+

(1
3
�

1
0

+
1
)
⇥

7

=
6
⇥

7
+

4
⇥

7
=

(6
+
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⇥

7
=

7
0
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D
ém

onstration.
Soit

q2
R

et
(m

,n
)2

N
2

tels
que

m
6

n.A
lors

on
a

:

(1�
q)

nPk
=

m

q
k

=
nPk
=

m

q
k�

nPk
=

m

q
k
+

1

=
nPk
=

m

(q
k�

q
k
+

1)
=

q
m
�

q
n
+

1

E
xem

p
le

C
alculer
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som

m
es

finies
suivantes.

a.
nPk
=

1

3
k

4
k
+

1
b.

5Pk
=

0

k
(3k

2�
2)

a.
N
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u

k
=

3
k

4
k
+

1
=

3
k

4⇥
4

k
=

14

3
k

4
k

=
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✓
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O
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1

u
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✓
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✓
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n
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34 �
(
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n
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1
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=
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�
✓
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n
+

1

=
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✓
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✓
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n ◆
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k
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=
5Pk
=

0
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2
k
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=
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=

0

3
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=
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=
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=
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=
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3)
L
in

éarité
d
e

l’op
érateu

r
P

nPi=
1
�
u

i
=

�
u

1
+

�
u

2
+

···
+

�
u

n
=

�
nPi=
1
u

i

nPj=
1
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j
+

v
j )

=
nPj=

1
u

j
+

nPj=
1
v
j

•
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est
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tout

�
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d
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en
d
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d
e
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-

d
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d
e
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m
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•
P
ar

exem
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a
:
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0
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5
q
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+
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3
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2
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=
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0
3
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